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(1) A &
(= M - 000
PEERT e .000
Bl A Bt e . 000
X ek 1 2R By . 000
el Eoiai ha 0.612
i Eoiai ha 0.612
B R RR R Eoiai ha 0.612
B3 S Eoiai ha 0.612
JH S5 FRATCRRE [ Eoiai ha 0.612
B3 S AT T Eoiai ha 0.612
AR5 Bt ha 0.612
FHHBZE R Rk 1/500 ha 0.612
R R Eoiai ha 0.612
HIAE IR R X S A R Eoiai ha 0.612
LR (FE - ROR A TERR R A BR <)
BTN IRCE S T SRR 1, A— 4,100, 3cm, 0 X .000
SR B
LR & Sy X .000
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(1) BRI
PRI = 1. 000
S8 = i (=6 < T eSS 1. 000
P SEM, #EHE, 0. 00, 1, 0005
AR R B gt/ T2 . 0. 00 = km 0. 150
FFE U7, 2, $F
BRI 1 PRRE #h, 0. 00, 1, 0005 AT /12 km 0. 150
R, 0. 00, 0
SHE, FFHE, 0. 00, 20
PR AR m, 1, 0005 il / 12/ km 0. 150
BA.0.00.0
G L S SEHE, HEfh, 0. 00, 1, 0005
AR 2 HEWTH = S/ 12850 0. 00 = km 0. 150
SEHE, BEHE, 0. 00, 465 m R
PRI AT i, 20m, 1, 0008 AT/ 12 km 0. 150
R, 0. 00, 0
(2) 1 thE
e Y 1. 000
e &R KB TFRHTEY [a] 1. 000
etk I EES) T A [a] 1. 000
e (EER) IR A [a] 1. 000
EPERE (BT ARRSERE ZBR<)
BEIZEVITEY,,, 714
e (WERE - K8 koS 1H, IR, L < ] 3. 000
100km (100km7}8)
T R E R S E R 1, A— 4,100, 3cm, 0 = 1. 000
R R A
s R B A B = 1. 000
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